

Certain properties of a submanifold in a sphere

By Masayuki MOROHASHI

Introduction.

H. Liebmann [8] has proved that an ovaloid with constant mean curvature in a 3-dimensional Euclidean space is a sphere. Y. Katsurada [3], [4] and K. Yano [14] have generalized the above theorem to an m -dimensional hypersurface in a Riemannian manifold admitting an infinitesimal conformal or homothetic transformation. Y. Katsurada [5], [6], H. Kôjyô [5], T. Nagai [6], [10] and K. Yano [15] have given the condition for a submanifold of codimension greater than 1 in a Riemannian manifold to be pseudo umbilical by making use of integral formulas.

On the other hand M. Okumura [11] has given the condition for a submanifold of codimension 2 in an odd dimensional sphere to be totally umbilical by making use of the natural normal contact structure on the sphere.

In this paper, the author studies a submanifold of codimension p in a sphere by making use of a conformal Killing tensor field of degree p on the sphere that has been defined by T. Kashiwada [2] and S. Tachibana [13], and proves that the submanifold is totally umbilical under certain conditions by making use of integral formulas.

The author wishes to express his sincere thanks to Professor Yoshie Katsurada for her kind guidance and advice.

§ 1. Tensor fields on a sphere induced from an Euclidean space.

Let E^{m+p+1} be a $(m+p+1)$ -dimensional Euclidean space with an orthogonal coordinate system X^A ($A=1, 2, \dots, m+p+1$). Let S^{m+p} be a $(m+p)$ -dimensional sphere of radius 1 in E^{m+p+1} . Then S^{m+p} is represented by the equation

$$(1.1) \quad \sum_{A=1}^{m+p+1} (X^A)^2 = 1.$$

We can take a local coordinate x^λ ($\lambda=1, 2, \dots, m+p$) of S^{m+p} in such a way that

$$(1.2) \quad \begin{cases} X^\lambda = x^\lambda, & \lambda = 1, \dots, m+p, \\ (X^{m+p+1})^2 = 1 - \sum_{\lambda=1}^{m+p} (x^\lambda)^2. \end{cases}$$

If we put

$$(1.3) \quad B_i^A = \partial X^A / \partial x^i,$$

then we find easily

$$(1.4) \quad B_i^A = \begin{cases} \delta_i^\mu, & A = \mu, \\ -\frac{X^\lambda}{X^{m+p+1}}, & A = m+p+1. \end{cases}$$

The Riemannian metric tensor $G_{\lambda\mu}$ on S^{m+p} induced from E^{m+p+1} and Christoffel's symbol $\left\{ \begin{smallmatrix} \tilde{\lambda} \\ \mu\nu \end{smallmatrix} \right\}$ with respect to $G_{\lambda\mu}$ are given by

$$(1.5) \quad G_{\lambda\mu} = \delta_{\lambda\mu} + \frac{X^\lambda X^\mu}{(X^{m+p+1})^2}, \quad G^{\lambda\mu} = \delta^{\lambda\mu} - X^\lambda X^\mu$$

and

$$(1.6) \quad \left\{ \begin{smallmatrix} \tilde{\lambda} \\ \mu\nu \end{smallmatrix} \right\} = X^\lambda G_{\mu\nu}$$

respectively. From (1.5) and (1.6), we find easily that the curvature tensor $\tilde{R}_{\lambda\mu\nu\kappa}$ of S^{m+p} has the form

$$(1.7) \quad \tilde{R}_{\lambda\mu\nu\kappa} = G_{\lambda\kappa} G_{\mu\nu} - G_{\lambda\nu} G_{\mu\kappa}.$$

If we put

$$(1.8) \quad (C^A) = (-X^1, -X^2, \dots, -X^{m+p+1}),$$

then C^A is a unit normal vector field of S^{m+p} .

Now we define the van der Waerden-Bortolotti covariant derivative $\nabla_\lambda B_\mu^A$ and $\nabla_\lambda C^A$ such that

$$(1.9) \quad \nabla_\lambda B_\mu^A = \partial_\lambda B_\mu^A - \left\{ \begin{smallmatrix} \tilde{\nu} \\ \lambda\mu \end{smallmatrix} \right\} B_\nu^A,$$

$$(1.10) \quad \nabla_\lambda C^A = \partial_\lambda C^A,$$

where ∂_λ denotes $\partial/\partial x^\lambda$. From (1.6), (1.8), (1.9) and (1.10), we obtain easily

$$(1.11) \quad \begin{aligned} \nabla_\lambda B_\mu^A &= -X^A G_{\lambda\mu} = C^A G_{\lambda\mu}, \\ \nabla_\lambda C^A &= -B_\lambda^A. \end{aligned}$$

Now let $\Phi_{A_1 \dots A_p}$ be a skew symmetric and parallel tensor of degree p on E^{m+p+1} , that is, satisfying

$$(1.12) \quad \begin{aligned} \Phi_{A_1 \dots A_p} &= -\Phi_{A_1 \dots A_{p-1} B A_p}, \\ \partial_B \Phi_{A_1 \dots A_p} &= 0, \end{aligned}$$

where ∂_B means $\partial/\partial X^B$.

We put

$$(1.13) \quad F_{\lambda_1 \dots \lambda_p} = \Phi_{A_1 \dots A_p} B_{\lambda_1}^{A_1} \dots B_{\lambda_p}^{A_p}.$$

Then $F_{\lambda_1 \dots \lambda_p}$ is a skew symmetric tensor field of degree p on S^{m+p} . Differentiating (1.13) covariantly on S^{m+p} , we have

$$\begin{aligned} \nabla_\lambda F_{\lambda_1 \dots \lambda_p} &= B_{\lambda_1}^{A_1} \partial_A \Phi_{A_1 \dots A_p} B_{\lambda_1}^{A_1} \dots B_{\lambda_p}^{A_p} \\ &\quad + \sum_{\sigma=1}^p \Phi_{A_1 \dots A_\sigma \dots A_p} B_{\lambda_1}^{A_1} \dots C^{A_\sigma} \dots B_{\lambda_p}^{A_p} G_{\lambda \lambda_\sigma} \end{aligned}$$

by means of (1.11). If we put

$$(1.14) \quad f_{\lambda_1 \dots \hat{\lambda}_\sigma \dots \lambda_p} = (-1)^\sigma \Phi_{A_1 \dots A_\sigma \dots A_p} B_{\lambda_1}^{A_1} \dots C^{A_\sigma} \dots B_{\lambda_p}^{A_p},$$

where $\hat{\lambda}_\sigma$ denotes that λ_σ is omitted, then we get

$$(1.15) \quad \nabla_\lambda F_{\lambda_1 \dots \lambda_p} = \sum_{\sigma=1}^p (-1)^\sigma f_{\lambda_1 \dots \hat{\lambda}_\sigma \dots \lambda_p} G_{\lambda \lambda_\sigma},$$

by virtue of (1.12). Thus $F_{\lambda_1 \dots \lambda_p}$ is a conformal Killing tensor field of degree p on S^{m+p} that has been defined by T. Kashiwada [2] and S. Tachibana [13]. Therefore we find that there exists a conformal Killing tensor field of degree p on S^{m+p} .

§ 2. Submanifold in S^{m+p} .

Let M^m be an orientable submanifold of codimension p in S^{m+p} . In terms of local coordinate (x^1, \dots, x^{m+p}) of S^{m+p} and (u^1, \dots, u^m) of M^m , M^m is locally expressed by equations

$$(2.1) \quad \begin{aligned} x^\lambda &= x^\lambda(u^i), & \lambda &= 1, 2, \dots, m+p, \\ & & i &= 1, 2, \dots, m. \end{aligned}$$

If we put

$$(2.2) \quad B_i^\lambda = \partial x^\lambda / \partial u^i,$$

then B_i^λ are m linearly independent local vector field tangent to M^m . The Riemannian metric tensor g_{jk} on M^m induced from the Riemannian metric tensor $G_{\lambda\mu}$ on S^{m+p} is given by

$$(2.3) \quad g_{jk} = G_{\lambda\mu} B_j^\lambda B_k^\mu.$$

We choose p mutually orthogonal unit normal vectors N_A^λ ($A=m+1, \dots, m+p$), then we find

$$\begin{aligned}
 (2.4) \quad & G_{\lambda\mu} B_j^\lambda N_A^\mu = 0, \quad G_{\lambda\mu} N_A^\lambda N_B^\mu = \delta_{AB}, \\
 & B_i^\lambda B_\lambda^h = \delta_i^h, \quad N_A^\lambda N_{B\lambda} = \delta_{AB}, \\
 & B_i^\lambda N_{A\lambda} = 0, \quad N_A^\lambda B_\lambda^i = 0, \\
 & B_i^\lambda B_\mu^i + \sum_A N_A^\lambda N_{A\mu} = \delta_\mu^\lambda,
 \end{aligned}$$

where we have put $B_\lambda^i = G_{\lambda\mu} B_j^\mu g^{ji}$, $N_{A\lambda} = G_{\lambda\mu} N_A^\mu$.

Let H_{Aji} ($A = m+1, \dots, m+p$) be the second fundamental tensor with respect to N_A^λ and L_{ABj} the third fundamental tensor. Then the Gauss and Weingarten equations are given by

$$(2.5) \quad \nabla_j B_i^\lambda = \sum_A H_{Aji} N_A^\lambda$$

and

$$(2.6) \quad \nabla_j N_A^\lambda = -H_{Aji} B_i^\lambda + \sum_B L_{ABj} N_B^\lambda$$

respectively, where $\nabla_j B_i^\lambda$ and $\nabla_j N_A^\lambda$ are defined by

$$\nabla_j B_i^\lambda = \partial_j B_i^\lambda - \left\{ \begin{matrix} h \\ j \ i \end{matrix} \right\} B_h^\lambda + \left\{ \begin{matrix} \tilde{\lambda} \\ \mu \nu \end{matrix} \right\} B_j^\mu B_i^\nu$$

and

$$\nabla_j N_A^\lambda = \partial_j N_A^\lambda + \left\{ \begin{matrix} \tilde{\lambda} \\ \mu \nu \end{matrix} \right\} B_j^\mu N_A^\nu$$

respectively, $\left\{ \begin{matrix} h \\ j \ i \end{matrix} \right\}$ and $\left\{ \begin{matrix} \tilde{\lambda} \\ \mu \nu \end{matrix} \right\}$ being the Christoffel's symbols of M^m and S^{m+p} .

We now write the equations of Gauss, Mainardi-Codazzi and Ricci-Kühne:

$$(2.7) \quad R_{kji\tilde{h}} = \tilde{R}_{\lambda\mu\nu\kappa} B_k^\lambda B_j^\mu B_i^\nu B_{\tilde{h}}^\kappa + \sum_A (H_{Akh} H_{Aji} - H_{Aki} H_{Ajh}),$$

$$(2.8) \quad \tilde{R}_{\lambda\mu\nu\kappa} B_k^\lambda B_j^\mu B_i^\nu N_A^\kappa = \nabla_k H_{Aji} - \nabla_j H_{Aki} + \sum_B (H_{Bji} L_{BAk} - H_{Bki} L_{BAj}),$$

$$\begin{aligned}
 (2.9) \quad & \tilde{R}_{\lambda\mu\nu\kappa} B_k^\lambda B_j^\mu N_A^\nu N_B^\kappa = H_{Aki} H_{Bji} - H_{Aji} H_{Bki} \\
 & + \nabla_k L_{ABj} - \nabla_j L_{ABk} + \sum_D (L_{ADj} L_{DBk} - L_{ADk} L_{DBj}),
 \end{aligned}$$

where $R_{kji\tilde{h}}$ and $\tilde{R}_{\lambda\mu\nu\kappa}$ denote the curvature tensor of M^m and S^{m+p} respectively. Since S^{m+p} has the curvature tensor of the form (1.7), the above equations can be written as

$$(2.10) \quad R_{kji\tilde{h}} = g_{kh} g_{ji} - g_{ki} g_{jh} + \sum_A (H_{Akh} H_{Aji} - H_{Aki} H_{Ajh}),$$

$$(2.11) \quad \nabla_k H_{Aji} - \nabla_j H_{Aki} + \sum_B (H_{Bji} L_{BAk} - H_{Bki} L_{BAj}) = 0,$$

$$(2.12) \quad H_{Ak}{}^t H_{Bj}{}^t - H_{Aj}{}^t H_{Bk}{}^t + \nabla_k L_{ABj} - \nabla_j L_{ABk} \\ + \sum_D (L_{ADj} L_{DBk} - L_{ADk} L_{DBj}) = 0.$$

When at each point of M^m the second fundamental tensors $H_{Aj}{}^t$ ($A = m+1, \dots, m+p$) are proportional to the metric tensor g_{jt} , that is, satisfying the following conditions

$$H_{Aj}{}^t = H_A g_{jt}, \quad A = m+1, \dots, m+p,$$

we call M^m a totally umbilical submanifold.

LEMMA 2.1. *A necessary and sufficient condition for M^m to be totally umbilical is that the following equations are satisfied:*

$$(2.13) \quad H_{Aj}{}^t H_A{}^{jt} = \frac{1}{m} (H_{At}{}^t)^2, \quad A = m+1, \dots, m+p.$$

PROOF. This follows the identity

$$\left(H_{Aj}{}^t - \frac{1}{m} H_{At}{}^t g_{jt} \right) \left(H_A{}^{jt} - \frac{1}{m} H_{At}{}^t g^{jt} \right) = H_{Aj}{}^t H_A{}^{jt} - \frac{1}{m} (H_{At}{}^t)^2,$$

and the positive definiteness of the Riemannian metric g_{jt} .

Next we consider the normal bundle $N(M^m)$ of M^m . For $N^\lambda \in N(M^m)$, a connection ∇^* on $N(M^m)$ is defined by

$$(2.14) \quad \nabla_j^* N^\lambda = (\nabla_j N^\lambda)^N,$$

where $(\nabla_j N^\lambda)^N$ denotes the normal part of $\nabla_j N^\lambda$. When $\nabla_j^* N^\lambda$ vanishes identically along M^m , we say that N^λ is parallel with respect to the connection of the normal bundle $N(M^m)$.

Let H^λ be the mean curvature vector field of M^m . Then H^λ is represented by

$$(2.15) \quad H^\lambda = \frac{1}{m} \sum_A H_{At}{}^t N_A{}^\lambda,$$

and H^λ is independent of the choice of mutually orthogonal unit normal vectors of M^m .

LEMMA 2.2. *In order that the mean curvature vector field H^λ of M^m is parallel with respect to the connection of the normal bundle, it is necessary and sufficient that*

$$(2.16) \quad \nabla_j H_{At}{}^t = - \sum_B H_{Bt}{}^t L_{BAj}.$$

PROOF. Differentiating (2.15) covariantly, we have

$$\begin{aligned}\nabla_j H^\lambda &= \frac{1}{m} \left\{ \sum_A \nabla_j H_{At}^\lambda N_A^\lambda + \sum_A H_{At}^\lambda (-H_{Aj}^\lambda B_h^\lambda + \sum_B L_{ABj} N_B^\lambda) \right\} \\ &= \frac{1}{m} \left\{ -\sum_A H_{At}^\lambda H_{Aj}^\lambda B_h^\lambda + \sum_A (\nabla_j H_{At}^\lambda + \sum_B H_{Bt}^\lambda L_{BAj}) N_A^\lambda \right\}\end{aligned}$$

from (2.6). Thus we get

$$\nabla_j^* H^\lambda = \frac{1}{m} \sum_A (\nabla_j H_{At}^\lambda + \sum_B H_{Bt}^\lambda L_{BAj}) N_A^\lambda,$$

from which we have the assertion of Lemma.

LEMMA 2.3. *Suppose that the mean curvature vector field H^λ of M^m is parallel with respect to the connection of the normal bundle, then the mean curvature h of M^m is constant.*

PROOF. The mean curvature h of M^m is given by

$$(2.17) \quad h^2 = \frac{1}{m^2} \sum_A (H_{At}^\lambda)^2.$$

Differentiating (2.17) covariantly and making use of (2.16), we have

$$\begin{aligned}\nabla_j h^2 &= \frac{2}{m^2} \sum_A H_{At}^\lambda \nabla_j H_{At}^\lambda \\ &= -\frac{2}{m^2} \sum_A \sum_B H_{At}^\lambda H_{Bs}^\lambda L_{BAj} = 0\end{aligned}$$

by virtue of $L_{ABj} = -L_{BAj}$. This proves that h is constant.

LEMMA 2.4. *If the mean curvature vector field H^λ of M^m is parallel with respect to the connection of the normal bundle, then we have the following relation*

$$(2.18) \quad \nabla_j H_{Ak}^\lambda = -\sum_B H_{Bk}^\lambda L_{BAj}.$$

PROOF. By means of (2.11) and (2.16), we get (2.18) easily.

Lemma 2.1, ..., 2.4 was proved by T. Yamada [16]. But his paper does not appear.

When there exists mutually orthogonal normal vector fields N_A^λ ($A = m+1, \dots, m+p$) such that $L_{ABj} = 0$, we say that the connection of the normal bundle of M^m is trivial. We obtain the following Lemma by J. Erbacher [1]:

LEMMA 2.5. *The connection of the normal bundle is trivial if and only if that*

$$(2.19) \quad H_{Ak}^\lambda H_{Bj\lambda} = H_{Aj}^\lambda H_{Bk\lambda}.$$

REMARK. If $p=1$, the connection of the normal bundle is trivial under no assumption. If $p=2$, the connection of the normal bundle is trivial under the condition that the mean curvature vector field H^λ of M^m is parallel with respect to the connection of the normal bundle.

§ 3. Integral formulas.

In this section, we assume that a submanifold M^m is compact orientable and the mean curvature vector field H^λ of M^m is parallel with respect to the connection of the normal bundle and the connection of the normal bundle is trivial. Let $F_{\lambda_1 \dots \lambda_p}$ be the tensor field of degree p on S^{m+p} that is defined by (1.13) in § 1.

Now we put

$$(3.1) \quad r = F_{\lambda_1 \dots \lambda_p} N_{m+1}^{\lambda_1} \dots N_{m+p}^{\lambda_p}.$$

LEMMA 3.1. *The function r is independent of the choice of mutually orthogonal unit normal vectors.*

PROOF. Let (T_{AB}) , $A, B = m+1, \dots, m+p$, be a orthogonal matrix such that $\det(T_{AB})=1$, that is, satisfying the following conditions

$$(3.2) \quad \sum_A T_{AB} T_{AC} = \delta_{BC}, \quad \sum_C T_{AC} T_{BC} = \delta_{AB},$$

$$\det(T_{AB}) = 1.$$

We put

$$(3.3) \quad 'N_A^\lambda = \sum_B T_{AB} N_B^\lambda.$$

Then $'N_A^\lambda$ ($A = m+1, \dots, m+p$) are mutually orthogonal unit normal vectors. Substituting (3.3) into $'r = F_{\lambda_1 \dots \lambda_p} 'N_{m+1}^{\lambda_1} \dots 'N_{m+p}^{\lambda_p}$, then we have

$$\begin{aligned} 'r &= \sum_{A_1, \dots, A_p} T_{m+1 A_1} \dots T_{m+p A_p} F_{\lambda_1 \dots \lambda_p} N_{A_1}^{\lambda_1} \dots N_{A_p}^{\lambda_p} \\ &= \sum_{A_1, \dots, A_p} \operatorname{sgn} \begin{pmatrix} m+1, \dots, m+p \\ A_1, \dots, A_p \end{pmatrix} T_{m+1 A_1} \dots T_{m+p A_p} F_{\lambda_1 \dots \lambda_p} N_{m+1}^{\lambda_1} \dots N_{m+p}^{\lambda_p} \\ &= \det(T_{AB}) F_{\lambda_1 \dots \lambda_p} N_{m+1}^{\lambda_1} \dots N_{m+p}^{\lambda_p} = r \end{aligned}$$

by virtue of (3.2) and the skew symmetry of $F_{\lambda_1 \dots \lambda_p}$. This proves the assertion of Lemma 3.1.

Differentiating (3.1) covariantly and making use of (1.15) and (2.6), we find

$$\begin{aligned} \nabla_i r &= B_i^\lambda \left\{ \sum_{a=1}^p (-1)^a f_{\lambda_1 \dots \hat{\lambda}_a \dots \lambda_p} G_{\lambda \lambda_a} \right\} N_{m+1}^{\lambda_1} \dots N_{m+p}^{\lambda_p} \\ &\quad + \sum_{a=1}^p F_{\lambda_1 \dots \lambda_a \dots \lambda_p} N_{m+1}^{\lambda_1} \dots (-H_{m+a}^{\lambda} B_h^{\lambda_a} + \sum_B L_{m+a B h} N_B^{\lambda_a}) \dots N_{m+p}^{\lambda_p}, \end{aligned}$$

from which we have

$$(3.4) \quad \nabla_i r = - \sum_{a=1}^p H_{m+ai} {}^h F_{\lambda_1 \dots \lambda_a \dots \lambda_p} N_{m+1}^{\lambda_1} \dots B_h^{\lambda_a} \dots N_{m+p}^{\lambda_p}.$$

Differentiating (3.4) covariantly, we have

$$\begin{aligned} \nabla_j \nabla_i r &= - \sum_{a=1}^p \nabla_j H_{m+ai} {}^h F_{\lambda_1 \dots \lambda_a \dots \lambda_p} N_{m+1}^{\lambda_1} \dots B_h^{\lambda_a} \dots N_{m+p}^{\lambda_p} \\ &\quad - \sum_{a=1}^p H_{m+ai} {}^h B_j^{\lambda} \left\{ \sum_{b=1}^p (-1)^b f_{\lambda_1 \dots \hat{\lambda}_b \dots \lambda_p} G_{\lambda \lambda_b} \right\} N_{m+1}^{\lambda_1} \dots B_h^{\lambda_a} \dots N_{m+p}^{\lambda_p} \\ &\quad - \sum_{a=1}^p H_{m+ai} {}^h \sum_{\substack{c=1 \\ c \neq a}}^p F_{\lambda_1 \dots \lambda_c \dots \lambda_a \dots \lambda_p} N_{m+1}^{\lambda_1} \dots (-H_{m+cj} {}^k B_k^{\lambda_c} + \sum_B L_{m+cBj} N_B^{\lambda_c}) \dots \\ &\quad \dots B_h^{\lambda_a} \dots N_{m+p}^{\lambda_p} \\ &\quad - \sum_{a=1}^p H_{m+ai} {}^h F_{\lambda_1 \dots \lambda_a \dots \lambda_p} N_{m+1}^{\lambda_1} \dots \sum_A H_{Aji} N_A^{\lambda_a} \dots N_{m+p}^{\lambda_p} \\ &= - \sum_{a=1}^p (\nabla_j H_{m+ai} {}^h + \sum_C H_{Cji} {}^h L_{Cm+aj}) F_{\lambda_1 \dots \lambda_a \dots \lambda_p} N_{m+1}^{\lambda_1} \dots B_h^{\lambda_a} \dots N_{m+p}^{\lambda_p} \\ &\quad + \sum_{\substack{a,c=1 \\ a \neq c}}^p H_{m+ai} {}^h H_{m+cj} {}^k F_{\lambda_1 \dots \lambda_c \dots \lambda_a \dots \lambda_p} N_{m+1}^{\lambda_1} \dots B_k^{\lambda_c} \dots B_h^{\lambda_a} \dots N_{m+p}^{\lambda_p} \\ &\quad - \sum_{a=1}^p (-1)^a H_{m+aj} {}^t f_{\lambda_1 \dots \hat{\lambda}_a \dots \lambda_p} N_{m+1}^{\lambda_1} \dots \hat{N}_{m+a}^{\lambda_a} \dots N_{m+p}^{\lambda_p} \\ &\quad - r \sum_{a=1}^p H_{m+ai} {}^h H_{m+aj} {}^h \end{aligned}$$

by virtue of (1.15), (2.5) and (2.6), where $\hat{N}_{m+a}^{\lambda_a}$ means that $N_{m+a}^{\lambda_a}$ is omitted. Thus we get

$$\begin{aligned} \nabla^j \nabla_j r &= - \sum_{a=1}^p (\nabla_j H_{m+aj} {}^j + \sum_C H_{Cji} {}^j L_{Cm+aj}) F_{\lambda_1 \dots \lambda_a \dots \lambda_p} N_{m+1}^{\lambda_1} \dots B_h^{\lambda_a} \dots N_{m+p}^{\lambda_p} \\ &\quad + \sum_{\substack{a,c=1 \\ a \neq c}}^p H_{m+aj} {}^j H_{m+cj} {}^k F_{\lambda_1 \dots \lambda_c \dots \lambda_a \dots \lambda_p} N_{m+1}^{\lambda_1} \dots B_k^{\lambda_c} \dots B_h^{\lambda_a} \dots N_{m+p}^{\lambda_p} \\ &\quad - \sum_{a=1}^p (-1)^a H_{m+at} {}^t f_{\lambda_1 \dots \hat{\lambda}_a \dots \lambda_p} N_{m+1}^{\lambda_1} \dots \hat{N}_{m+a}^{\lambda_a} \dots N_{m+p}^{\lambda_p} \\ &\quad - r \sum_A H_{Aji} H_A^{\lambda_i}, \end{aligned}$$

from which we have

$$\begin{aligned} \nabla^j \nabla_j r &= - \sum_{a=1}^p (-1)^a H_{m+at} {}^t f_{\lambda_1 \dots \hat{\lambda}_a \dots \lambda_p} N_{m+1}^{\lambda_1} \dots \hat{N}_{m+a}^{\lambda_a} \dots N_{m+p}^{\lambda_p} \\ &\quad - r \sum_A H_{Aji} H_A^{\lambda_i} \end{aligned}$$

by virtue of our assumptions, Lemma 2.4 and the skew symmetry of $F_{\lambda_1 \dots \lambda_p}$.

Therefore we obtain the following integral formula

$$(3.5) \quad \int_{M^m} \left\{ r \sum_A H_{Ajt} H_A^{jt} + \sum_{a=1}^p (-1)^a H_{m+at} {}^t F_{\lambda_1 \dots \lambda_a \dots \lambda_p} N_{m+1}^{\lambda_1} \dots \hat{N}_{m+a}^{\lambda_a} \dots N_{m+p}^{\lambda_p} \right\} dM = 0$$

by means of Green's theorem.

Next we put

$$w_i = \sum_{a=1}^p H_{m+at} {}^t F_{\lambda_1 \dots \lambda_a \dots \lambda_p} N_{m+1}^{\lambda_1} \dots B_i^{\lambda_a} \dots N_{m+p}^{\lambda_p}.$$

LEMMA 3.2. w_i is independent of the choice of mutually orthogonal unit normal vectors. Consequently it defines a vector field on M^m .

PROOF. We take T_{AB} and $'N_A^\lambda$ satisfying (3.2) and (3.3). From (3.2) and (3.3), we find

$$\begin{aligned} \sum_A T_{AC} {}'N_A^\lambda &= \sum_A T_{AC} \sum_B T_{AB} N_B^\lambda \\ &= \sum_B \delta_{CB} N_B^\lambda = N_C^\lambda, \end{aligned}$$

from which we have

$$(3.6) \quad N_A^\lambda = \sum_B T_{BA} {}'N_B^\lambda.$$

Let $'H_{Ajt}$ be the second fundamental tensor with respect to $'N_A^\lambda$. Making use of (3.6), we have

$$\begin{aligned} \nabla_j B_i^\lambda &= \sum_A {}'H_{Ajt} {}'N_A^\lambda = \sum_A H_{Ajt} N_A^\lambda \\ &= \sum_A H_{Ajt} \sum_B T_{BA} {}'N_B^\lambda = \sum_A \left(\sum_B H_{Bjt} T_{AB} \right) {}'N_A^\lambda, \end{aligned}$$

from which we get

$$'H_{Ajt} = \sum_B T_{AB} H_{Bjt}.$$

Thus we find

$$(3.7) \quad {}'H_{At} {}^t = \sum_B T_{AB} H_{Bt} {}^t.$$

From (3.3), (3.7) and the skew symmetry of $F_{\lambda_1 \dots \lambda_p}$, we have

$$\begin{aligned} {}'w_i &= \sum_{a=1}^p {}'H_{m+at} {}^t F_{\lambda_1 \dots \lambda_a \dots \lambda_p} {}'N_{m+1}^{\lambda_1} \dots B_i^{\lambda_a} \dots {}'N_{m+p}^{\lambda_p} \\ &= \sum_{a=1}^p \sum_{A_1, \dots, A_p} H_{A_a t} {}^t T_{m+1A_1} \dots T_{m+aA_a} \dots T_{m+pA_p} F_{\lambda_1 \dots \lambda_a \dots \lambda_p} N_{A_1}^{\lambda_1} \dots B_i^{\lambda_a} \dots N_{A_p}^{\lambda_p} \end{aligned}$$

$$\begin{aligned}
 &= \sum_{b=1}^p H_{m+b} {}^t \sum_{a=1}^p \sum_{A_1, \dots, A_p} T_{m+1A_1} \cdots T_{m+am+b} \cdots T_{m+pA_p} F_{\lambda_1 \dots \lambda_a \dots \lambda_p} \times \\
 &\quad N_{A_1}^{\lambda_1} \dots B_i^{\lambda_a} \dots N_{A_p}^{\lambda_p} \\
 &= \sum_{b=1}^p H_{m+b} {}^t \sum_{a,c=1}^p (-1)^{a+c} \sum_{A_1, \dots, A_p} \operatorname{sgn} \left(\begin{matrix} m+1, \dots, \widehat{m+c}, \dots, m+p \\ A_1, \dots, \widehat{A_a}, \dots, A_p \end{matrix} \right) \times \\
 &\quad T_{m+1A_1} \cdots T_{m+am+b} \cdots T_{m+pA_p} F_{\lambda_1 \dots \lambda_a \dots \lambda_p} N_{m+1}^{\lambda_1} \dots B_i^{\lambda_a} \dots N_{m+p}^{\lambda_p} \\
 &= \sum_{b=1}^p H_{m+b} {}^t \sum_{a,c=1}^p T_{m+am+b} \tilde{T}_{m+am+c} F_{\lambda_1 \dots \lambda_a \dots \lambda_p} N_{m+1}^{\lambda_1} \dots B_i^{\lambda_a} \dots N_{m+p}^{\lambda_p},
 \end{aligned}$$

where \tilde{T}_{m+am+c} denotes the cofactor of T_{m+am+c} . Making use of the following relation

$$\sum_{a=1}^p T_{m+am+b} \tilde{T}_{m+am+c} = \begin{cases} \det(T_{AB}), & b=c, \\ 0, & b \neq c, \end{cases}$$

we obtain

$$\begin{aligned}
 {}^i w_i &= \det(T_{AB}) \sum_{b=1}^p H_{m+b} {}^t F_{\lambda_1 \dots \lambda_b \dots \lambda_p} N_{m+1}^{\lambda_1} \dots B_i^{\lambda_b} \dots N_{m+p}^{\lambda_p} \\
 &= w_i
 \end{aligned}$$

by means of (3.2), which proves the assertion of Lemma.

Differentiating w_i covariantly and making use of (1.15), (2.5) and (2.6), we have

$$\begin{aligned}
 \nabla_j w_i &= \sum_{a=1}^p \nabla_j H_{m+at} {}^t F_{\lambda_1 \dots \lambda_a \dots \lambda_p} N_{m+1}^{\lambda_1} \dots B_i^{\lambda_a} \dots N_{m+p}^{\lambda_p} \\
 &\quad + \sum_{a=1}^p H_{m+at} {}^t B_j^{\lambda} \left\{ \sum_{b=1}^p (-1)^b f_{\lambda_1 \dots \lambda_b \dots \lambda_p} G_{\lambda \lambda_b} \right\} N_{m+1}^{\lambda_1} \dots B_i^{\lambda_a} \dots N_{m+p}^{\lambda_p} \\
 &\quad + \sum_{a=1}^p \sum_{\substack{c=1 \\ c \neq a}}^p H_{m+at} {}^t F_{\lambda_1 \dots \lambda_c \dots \lambda_a \dots \lambda_p} N_{m+1}^{\lambda_1} \dots (-H_{m+cj} {}^h B_h^{\lambda_c} + \sum_B L_{m+cBj} N_B^{\lambda_c}) \\
 &\quad \dots B_i^{\lambda_a} \dots N_{m+p}^{\lambda_p} \\
 &\quad + \sum_{a=1}^p H_{m+at} {}^t F_{\lambda_1 \dots \lambda_a \dots \lambda_p} N_{m+1}^{\lambda_1} \dots \sum_A H_{Aji} N_A^{\lambda_a} \dots N_{m+p}^{\lambda_p} \\
 &= \sum_{a=1}^p (\nabla_j H_{m+at} + \sum_B H_{Bt} {}^t L_{Bm+aj}) F_{\lambda_1 \dots \lambda_a \dots \lambda_p} N_{m+1}^{\lambda_1} \dots B_i^{\lambda_a} \dots N_{m+p}^{\lambda_p} \\
 &\quad + \sum_{\substack{a,c=1 \\ a \neq c}}^p H_{m+at} {}^t H_{m+cj} {}^h F_{\lambda_1 \dots \lambda_c \dots \lambda_a \dots \lambda_p} N_{m+1}^{\lambda_1} \dots B_h^{\lambda_c} \dots B_i^{\lambda_a} \dots N_{m+p}^{\lambda_p} \\
 &\quad + \sum_{a=1}^p (-1)^a H_{m+at} {}^t f_{\lambda_1 \dots \lambda_a \dots \lambda_p} N_{m+1}^{\lambda_1} \dots \widehat{N}_{m+a}^{\lambda_a} \dots N_{m+p}^{\lambda_p} g_{ji}
 \end{aligned}$$

$$+ r \sum_{a=1}^p H_{m+at} {}^t H_{m+aj} ,$$

from which we get

$$\nabla^j w_j = m \sum_{a=1}^p (-1)^a H_{m+at} {}^t f_{\lambda_1 \dots \lambda_a \dots \lambda_p} N_{m+1}^{\lambda_1} \dots \hat{N}_{m+a}^{\lambda_a} \dots N_{m+p}^{\lambda_p} + r \sum_A (H_{At} {}^t)^2$$

by means of our assumptions. Thus we have the following integral formula

$$(3.8) \quad \int_{M^m} \left\{ r \sum_A (H_{At} {}^t)^2 + m \sum_{a=1}^p (-1)^a H_{m+at} {}^t f_{\lambda_1 \dots \lambda_a \dots \lambda_p} N_{m+1}^{\lambda_1} \dots \hat{N}_{m+a}^{\lambda_a} \dots N_{m+p}^{\lambda_p} \right\} dM = 0$$

by virtue of Green's theorem.

From (3.5)-(3.8) $\times \frac{1}{m}$, we have

$$(3.9) \quad \int_{M^m} r \sum_A \left\{ H_{Ajt} H_A^{jt} - \frac{1}{m} (H_{At} {}^t)^2 \right\} dM = 0.$$

THEOREM 3.3. *Let M^m be a compact orientable submanifold of codimension p in a sphere S^{m+p} of radius 1. Suppose that the mean curvature vector field H^λ of M^m is parallel with respect to the connection of the normal bundle and that the connection of the normal bundle is trivial. If the function r has fixed sign on M^m , then M^m is totally umbilical.*

PROOF. Since $H_{Ajt} H_A^{jt} - \frac{1}{m} (H_{At} {}^t)^2$ is non negative, we have

$$H_{Ajt} H_A^{jt} - \frac{1}{m} (H_{At} {}^t)^2 = 0$$

from (3.9) and the assumption. Thus we find that M^m is totally umbilical by virtue of Lemma 2.1.

In the case of $p=1$ and $p=2$, we have the following corollaries by means of Remark in §2.

COROLLARY 3.4. *Let M^m be a compact orientable hypersurface in a sphere S^{m+1} of radius 1. Assume that the mean curvature h of M^m is constant. If the function r has fixed sign on M^m , then M^m is umbilical.*

COROLLARY 3.5. *Let M^m be a compact orientable submanifold of codimension 2 in a sphere S^{m+2} of radius 1. Assume that the mean curvature vector field H^λ of M^m is parallel with respect to the connection of the normal bundle. If the function r has fixed sign on M^m , then M^m is totally umbilical.*

When $p=1$, F_i that is given by (1.13) is a conformal Killing vector

field on S^{m+1} . Therefore Corollary 3.4 is included in the theorem of Y. Katsurada [3], [4]. When $p=2$, Corollary 3.5 is considered as the generalization of the theorem of M. Okumura [11].

§ 4. Examples.

When $m=2n+1$ and $p=2$, M. Okumura [11] has given an example of a submanifold that the function r is constant by making use of the normal contact structure on S^{2n+1} . Similarly we give examples of submanifolds in a sphere such that r is constant in the case of $p=2$ and $p=3$.

(i) Case of $p=2$: We take Φ_{AB} on E^{m+3} in the following way

$$(4.1) \quad (\Phi_{AB}) = \left(\begin{array}{ccc|cc} 0 & \cdots & 0 & 0 & 0 \\ \vdots & & \vdots & \vdots & \vdots \\ 0 & \cdots & 0 & 0 & 0 \\ \hline 0 & \cdots & 0 & 0 & 1 \\ 0 & \cdots & 0 & -1 & 0 \end{array} \right)$$

Then we find easily that Φ_{AB} is a skew symmetric and parallel tensor of degree 2 on E^{m+3} . From (1.4) and (1.13), we have

$$(4.2) \quad (F_{\lambda\mu}) = \left(\begin{array}{ccc|c} 0 & \cdots & 0 & \frac{X^1}{X^{m+3}} \\ \vdots & & \vdots & \vdots \\ 0 & \cdots & 0 & \frac{X^{m+1}}{X^{m+3}} \\ \hline -\frac{X^1}{X^{m+3}}, & \cdots, & -\frac{X^{m+1}}{X^{m+3}}, & 0 \end{array} \right)$$

Now we consider a submanifold M^m of S^{m+2} whose local representation is given by

$$(4.3) \quad \begin{cases} X^i = u^i, & (i = 1, 2, \dots, m) \\ (X^{m+1})^2 = t - \sum_{i=1}^m (u^i)^2, & 0 < t < 1, \end{cases}$$

$$\begin{cases} X^{m+2} = 0, \\ X^{m+3} = \sqrt{1-t}. \end{cases}$$

Then we see that the submanifold M^m is compact and totally umbilical in S^{m+2} .

We put

$$(4.4) \quad \begin{aligned} (C^\lambda) &= (0, \dots, 1), \\ (D^\lambda) &= (X^1, \dots, X^{m+1}, 0) \times \sqrt{\frac{1-t}{t}}. \end{aligned}$$

Then C^λ and D^λ are mutually orthogonal unit normal vectors of M^m .

From (4.2), (4.3) and (4.4), we have

$$\begin{aligned} r = F_{\lambda^\mu} C^\lambda D^\mu &= -\frac{1}{X^{m+3}} \sqrt{\frac{1-t}{t}} \sum_{i=1}^{m+1} (X^i)^2 \\ &= -\frac{1}{\sqrt{1-t}} \sqrt{\frac{1-t}{t}} \times t = -\sqrt{t}. \end{aligned}$$

This shows that the submanifold M^m is a desired one.

(ii) Case of $p=3$: We take three vectors Φ_{A_1}, Φ_{A_2} and Φ_{A_3} on E^{m+4} in such way that

$$(4.5) \quad \begin{aligned} (\Phi_{A_1}) &= (0, 0, \dots, 1), \\ (\Phi_{A_2}) &= (0, 0, \dots, 1, 0), \\ (\Phi_{A_3}) &= (0, \dots, 1, 0, 0). \end{aligned}$$

We put

$$(4.6) \quad \Phi_{ABC} = \sum \text{sgn} \begin{pmatrix} 1, 2, 3 \\ a, b, c \end{pmatrix} \Phi_{A_a} \Phi_{B_b} \Phi_{C_c}, \quad (a, b, c = 1, 2, 3).$$

Then we find easily that Φ_{ABC} is a skew symmetric and parallel tensor of degree 3 on E^{m+4} .

We put

$$(4.7) \quad F_{\lambda_1} = \Phi_{A_1} B_{\lambda_1}^A, \quad F_{\lambda_2} = \Phi_{A_2} B_{\lambda_2}^A, \quad F_{\lambda_3} = \Phi_{A_3} B_{\lambda_3}^A.$$

Then we get

$$(4.8) \quad \begin{aligned} (F_{\lambda_1}) &= \left(-\frac{X^1}{X^{m+4}}, \dots, -\frac{X^{m+3}}{X^{m+4}} \right) \\ (F_{\lambda_2}) &= (0, 0, \dots, 0, 1) \\ (F_{\lambda_3}) &= (0, \dots, 0, 1, 0) \end{aligned}$$

by virtue of (1.4) and (4.7). From (1.13), we have

$$(4.9) \quad F_{\lambda\mu\nu} = \sum \operatorname{sgn} \begin{pmatrix} 1, 2, 3 \\ a, b, c \end{pmatrix} F_a^\lambda F_b^\mu F_c^\nu, \quad (a, b, c = 1, 2, 3).$$

Now we consider a submanifold M^m of S^{m+3} whose local representation is given by

$$(4.10) \quad \begin{cases} X^i = u^i, & (i = 1, 2, \dots, m) \\ (X^{m+1})^2 = t - \sum_{i=1}^m (u^i)^2, & 0 < t < 1, \\ X^{m+2} = 0, \quad X^{m+3} = 0, \\ X^{m+4} = \sqrt{1-t}. \end{cases}$$

We put

$$\begin{aligned} (N_{m+1})^\lambda &= (0, \dots, 1), \\ (N_{m+2})^\lambda &= (0, \dots, 1, 0), \\ (N_{m+3})^\lambda &= (X^1, \dots, X^{m+1}, 0, 0) \times \sqrt{\frac{1-t}{t}}. \end{aligned}$$

Then N_{m+1}^λ , N_{m+2}^λ and N_{m+3}^λ are mutually orthogonal unit normal vectors of M^m .

Making use of (4.8), (4.9) and (4.10), we have

$$\begin{aligned} r &= F_{\lambda\mu\nu} N_{m+1}^\lambda N_{m+2}^\mu N_{m+3}^\nu = F_{\lambda\mu\nu} N_{m+1}^\lambda N_{m+2}^\mu N_{m+3}^\nu \\ &= -\frac{1}{X^{m+4}} \sqrt{\frac{1-t}{t}} \sum_{i=1}^{m+1} (X^i)^2 = -\sqrt{t}. \end{aligned}$$

Thus we see that the submanifold M^m is a desired one.

Department of Mathematics,
Hokkaido University

References

- [1] J. ERBACHER: Isometric immersion of constant mean curvature and triviality of the normal connection, Nagoya Math. J. Vol. 45 (1971), 139-165.
- [2] T. KASHIWADA: On conformal Killing tensor, Nat. Sci. Rep. Ochanomizu Univ. Vol. 19, No. 2 (1968), 67-74.
- [3] Y. KATSURADA: Generalized Minkowski formulas for closed hypersurfaces in Riemann space, Ann. di Mat. p. appl. 57 (1962), 283-293.
- [4] Y. KATSURADA: On a certain property of closed hypersurfaces in an Einstein space, Comment. Math. Helv. 38 (1964), 165-171.
- [5] Y. KATSURADA and H. KÔJYÔ: Some integral formulas for closed submanifolds

- in a Riemann space, J. Fac. Sci. Hokkaido Univ. Ser. I. Vol. 20 (1968), 90-100.
- [6] Y. KATSURADA and T. NAGAI: On some properties of a submanifold with constant mean curvature in a Riemann space, J. Fac. Sci. Hokkaido Univ. Ser. I. Vol. 20 (1968), 79-89.
 - [7] T. KOYANAGI: On a certain property of a closed hypersurface in a Riemann space, J. Fac. Sci. Hokkaido Univ. Ser. I. Vol. 20 (1968), 115-121.
 - [8] H. LIEBMANN: Über die Verbiegung der geschlossenen Flächen positiver Krümmung, Math. Ann. 53 (1900), 91-112.
 - [9] T. MURAMORI: Generalized Minkowski formulas for closed hypersurfaces in a Riemannian manifold, J. Fac. Sci. Hokkaido Univ. Ser. I. Vol. 22 (1972), 32-49.
 - [10] T. NAGAI: On certain conditions for a submanifold in a Riemann space to be isometric to a sphere, J. Fac. Sci. Hokkaido Univ. Ser. I. Vol. 20 (1968), 135-159.
 - [11] M. OKUMURA: Compact orientable submanifold of codimension 2 in an odd dimensional sphere, Tôhoku Math. J. 20 (1968), 8-20.
 - [12] M. OKUMURA: Submanifolds of codimension 2 with certain properties, J. Diff. Geometry 4 (1970), 457-467.
 - [13] S. TACHIBANA: On conformal Killing tensor in a Riemannian space, Tôhoku Math. J. 21 (1969), 56-64.
 - [14] K. YANO: Closed hypersurfaces with constant mean curvature in a Riemannian manifold, J. Math. Soc. Japan 17 (1965), 333-340.
 - [15] K. YANO: Integral formulas for submanifolds and their applications, Canadian J. Math. 22 (1970), 376-388.
 - [16] T. YAMADA: Submanifolds of codimension greater than 1 with certain properties, to appear.

(Received, June 9, 1972)